### **Directorate of Admissions & Competitive Examinations**

# University of Kashmir

NAAC Accredited Grade A++ University Srinagar – 190 006, Kashmir, J&K

Dr. Fayaz Ahmad
Professor Zoology & Director DACE

Main University Campus
Hazratbal, Srinagar

Selection Notification No.: 4-PG of 2025

## <u>Distance Mode Programmes (Session 2025)</u>

- Candidates, whose particulars are mentioned in the selection lists appended to this notification, have been provisionally selected for admission to PG programmes (Distance Mode) offered by this University purely on the basis of Qualifying Examination Merit as per admission policy.
- II) Provisionally selected candidates are required to download their "Admission Form" from the official website of the University under "Admissions" tab on the home page and click on "Submit Admission Form for 1<sup>st</sup> Semester" from 16<sup>th</sup> September 2025 by entering the Application Form Number and DOB.
- III) Provisionally selected candidates should have a DEB-ID, which can be generated as given under:

Visit UGC-DEB web portal <a href="https://deb.ugc.ac.in/StudentDeBID">https://deb.ugc.ac.in/StudentDeBID</a> and generate DEB ID using your Academic Bank of Credit (ABC) ID. If you do not have an Academic Bank of Credit (ABC) ID, you can create one through Digi Locker <a href="https://www.digilocker.gov.in">https://www.digilocker.gov.in</a> The DEB-ID, once generated, will remain valid for the student's lifetime.

**Note**: Without a valid DEB-ID, admission cannot be granted to ODL/ OL Programmes.

IV) The provisionally selected candidates shall complete the admission form and visit the Centre for Distance and Online Education for completing the admission formalities by or before 18-09- 2025 (4:00 p.m.).

#### The admission of the candidates is subject to:

- 1. Production of all relevant original documents [Marks Certificate/Transcript of qualifying examination, Domicile certificate (other than OSJ), valid Reserved Category certificate (wherever applicable), Migration Certificate (wherever applicable).
- 2. Production of eligibility cum revival of registration/migration form, wherever applicable, alongwith prescribed fee;
- 3. Fulfilling of minimum required eligibility conditions to be verified by the Centre for Distance and Online Education;
- 4. Clearance be sought from the Academic Section in respect of candidates having qualified examination from Universities/Institutions other than Universities/Institutions of Jammu, Kashmir and Ladakh;
- 5. Production of an affidavit sworn in before 1st Class Judicial Magistrate

### stating that:

- ✓ I am not on rolls of any Institution for any distance/online programme;
- ✓ All the submitted certificates/documents are genuine and authentic;
- ✓ I have not availed the benefit of the reserved category certificate for pursuing any PG Programme earlier (if seeking admission under any Reserved Category);
- ✓ I shall strictly adhere to the rules and regulations of the Centre for Distance and Online Education, University of Kashmir in toto;
- ✓ I understand that in case of any misinformation or concealment of any information or indiscipline or misconduct, my admission to the programme shall be cancelled and I shall be subjected to legal action;
- I submit this affidavit under free will without any pressure, compulsion, fraud or coercion.
- 6. The provisionally selected candidates shall approach, alongwith the admission form and all the relevant certificates and documents (original and self attested Xerox copies) to the Centre for Distance and Online Education, University of Kashmir for verification of documents/ certificates and online acceptance of Admission form for depositing the prescribed Fee via online mode from 16<sup>th</sup> September to 18<sup>th</sup> September 2025.
- 7. Any provisionally selected candidate failing to complete the admission formalities upto 18-09-2025 (4:00 p.m.) shall forfeit his/her right to admission and the resultant vacancy (ies), if any, shall be filled up from among the waiting list. A candidate, who forfeits admission, shall not be given another chance till candidates are available in the merit list.
- 8. Please note that all the Notifications shall be made available only on the Official website of the University and notice shall not be published in print media nor shall any candidate be informed individually.
- 9. Notices uploaded on the official website of the University shall be deemed to have been served to the candidates.

| Sr.          | Form No  | Name                  | MM   | МО   | %age  |  |  |  |
|--------------|----------|-----------------------|------|------|-------|--|--|--|
| MA Economics |          |                       |      |      |       |  |  |  |
| ОМ           |          |                       |      |      |       |  |  |  |
| 1            | 25651322 | TANZEELA MUSHTAQ      | 10   | 7.88 | 78.80 |  |  |  |
| 2            | 25651435 | JAVAID AHMED PATHAN   | 1980 | 1480 | 74.75 |  |  |  |
| 3            | 25651458 | INSHA MANZOOR         | 10   | 7.2  | 72.00 |  |  |  |
| 4            | 25651459 | NAZIMA RIYAZ          | 10   | 6.64 | 66.40 |  |  |  |
| 5            | 25651441 | RIFATH AKHTER         | 10   | 6.53 | 65.30 |  |  |  |
| 6            | 25651312 | KHUSHBOO NAZIR        | 10   | 6.4  | 64.00 |  |  |  |
| 7            | 25651500 | MUSHTAQ MOHMAD        | 1800 | 1122 | 62.33 |  |  |  |
| 8            | 25651508 | HAKEEM UBAID          | 10   | 5.99 | 59.90 |  |  |  |
| 9            | 25651457 | MOHSIN AHMAD SHEIKH   | 1050 | 618  | 58.86 |  |  |  |
| 10           | 25651439 | MOHAMMAD RAMZAN GANAI | 1800 | 1022 | 56.78 |  |  |  |
| 11           | 25651477 | SHEIKH BILAL AHMAD    | 1800 | 964  | 53.56 |  |  |  |
| OSJ          |          |                       |      |      |       |  |  |  |
| 1            | 25651309 | NAJMA TABASSUM        | 4450 | 2570 | 57.75 |  |  |  |
| MA Education |          |                       |      |      |       |  |  |  |

|             |                      | OM                                   |          |              |       |  |  |
|-------------|----------------------|--------------------------------------|----------|--------------|-------|--|--|
| 1           | 25651476             | REHANA RASHID                        | 1000     | 764          | 76.40 |  |  |
| 2           | 25651511             | SOWBIA MANZOOR                       | 10       | 7.04         | 70.40 |  |  |
| 3           | 25651449             | BISMA FAYAZ                          | 1400     | 962          | 68.71 |  |  |
| 4           | 25651499             | IQRA JAN                             | 10       | 6.17         | 61.70 |  |  |
| 5           | 25651451             | AAQIB MAJEED                         | 10       | 5.94         | 59.40 |  |  |
| 6           | 25651432             | RAYEES AHMAD MALIK                   | 10       | 5.85         | 58.50 |  |  |
| 7           | 25651469             | ROQIA RASOOL                         | 1200     | 660          | 55.00 |  |  |
| -           |                      | MA English                           |          |              |       |  |  |
|             |                      | OM                                   |          |              |       |  |  |
| 1           | 25651444             | SUZEEN                               | 500      | 403          | 80.60 |  |  |
| 2           | 25651313             | ZAHOOR AHMED SHAH                    | 1800     | 1158         | 64.33 |  |  |
| 3           | 25651474             | AJAZ ALI RATHER                      | 1800     | 1031         | 57.28 |  |  |
|             |                      | MA Islamic Studies                   |          |              |       |  |  |
|             |                      | OM                                   |          |              |       |  |  |
| 1           | 25651504             | RABIYA SHAREEF                       | 10       | 8.17         | 81.70 |  |  |
| 2           | 25651448             | JUNAID AZIM MATTU                    | 1000     | 788          | 78.80 |  |  |
| 3           | 25651322             | TANZEELA MUSHTAQ                     | 1000     | 788          | 78.80 |  |  |
| 4           | 25651447             | ASMA BASHIR                          | 10       | 7.4          | 74.00 |  |  |
| 5           | 25651454             | UZMA ALI                             | 10       | 7.29         | 72.90 |  |  |
| 6           | 25651341             | IQRA JAN                             | 10       | 7.23         | 72.30 |  |  |
| 7           | 25651379             | FEHMEEDA AKHTER                      | 10       | 7.09         | 70.90 |  |  |
| 8           | 25651364             | SABOORA JAN                          | 8200     | 5762         | 70.27 |  |  |
| 9           | 25651468             | GOUSIA YOUSUF                        | 1850     | 1261         | 68.16 |  |  |
| 10          | 25651423             | SEERAT JAN                           | 10       | 6.67         | 66.70 |  |  |
| 11          | 25651473             | IQRA GUL                             | 10       | 6.63         | 66.30 |  |  |
| 12          | 25651472             | NAHIDA AZIZ                          | 10       | 6.35         | 63.50 |  |  |
| 13          | 25651424             | SAQIB SHAKEEL                        | 3350     | 2076         | 61.97 |  |  |
| 14          | 25651471             | ISHRAT JAN                           | 10       | 6.19         | 61.90 |  |  |
| 15          | 25651455             | TAWHEEDA KHANAM                      | 10       | 6.19         | 61.90 |  |  |
| 16          | 25651499             | IQRA JAN                             | 10       | 6.17         | 61.70 |  |  |
| 17          | 25651443             | ASMAT JAN                            | 10       | 6.12         | 61.20 |  |  |
| 18          | 25651389             | ZAKER HUSSAIN MANTOO                 | 2100     | 1231         | 58.62 |  |  |
| 19          | 25651319             | MOHAMMAD BABER                       | 1360     | 770          | 56.62 |  |  |
| 20          | 25651378             | BILAL AHMAD RATHER                   | 10       | 5.54         | 55.40 |  |  |
| 21          | 25651410             | WASEEM AHMAD                         | 1800     | 980          | 54.44 |  |  |
| 22          | 25650532             | FAHEEM AHMAD BHAT                    | 1200     | 651.3        | 54.28 |  |  |
| 23          | 25651361             | SHAHID SIRAJ BHAT                    | 1800     | 968          | 53.78 |  |  |
| 24          | 25651365             | SHABIR AHMED SOFI                    | 1650     | 833          | 50.48 |  |  |
| 25          | 25651356             | YOUNIS MAJEED BHAT                   | 1800     | 839          | 46.61 |  |  |
| 26          | 25651388             | LONE NUMAN ISHAQ                     | 0        | 0            | 0.00  |  |  |
|             | 05650000             | OSJ                                  | 1000     | 600          | F0 47 |  |  |
| 1           | 25650082             | YASSIR AHMED                         | 1200     | 698          | 58.17 |  |  |
| MA Kashmiri |                      |                                      |          |              |       |  |  |
| 1           | 25651445             | OM                                   | 10       | 6.00         | 60.20 |  |  |
| 2           | 25651445             | ASIFA NABI                           | 10       | 6.82         | 68.20 |  |  |
| 3           | 25651438             | NASIR AHMAD SHAH<br>SHAHYESTA ASHRAF | 10       | 6.69         | 66.90 |  |  |
| 4           | 25651434<br>25651466 | NAZIA AKHTER                         | 10<br>10 | 6.66<br>6.07 | 66.60 |  |  |
| 5           | 25651406             | SHAGUFTA MOHI UD DIN                 | 1800     | 932          | 51.78 |  |  |
| J           | 23031300             | MA/M Sc Mathematics                  | 1000     | 932          | 31./6 |  |  |
| OM          |                      |                                      |          |              |       |  |  |
| 1           | 25650204             | FAIZAN TAHIR                         | 10       | 8.4          | 84.0  |  |  |
| 2           | 25651505             | NOWSHEEN                             | 1280     | 1000         | 78.1  |  |  |
|             | 20001000             | 140 AAOI IEEIA                       | 1200     | 1000         | 70.1  |  |  |

| 3     | 25651431 | AAMIR AHMAD LONE    | 10   | 7.49 | 74.9  |  |  |  |
|-------|----------|---------------------|------|------|-------|--|--|--|
| 4     | 25651460 | SHABNUM JAN         | 6600 | 4784 | 72.5  |  |  |  |
| 5     | 25651452 | MEHRAJ UD DIN LONE  | 1000 | 676  | 67.6  |  |  |  |
| 6     | 25651440 | ADIL ASHRAF         | 1000 | 674  | 67.4  |  |  |  |
| 7     | 25651502 | SHEIKH SHAHID RIYAZ | 10   | 6.26 | 62.6  |  |  |  |
| 8     | 25651433 | UMAR ASHRAF         | 1000 | 623  | 62.3  |  |  |  |
| 9     | 25651477 | SHEIKH BILAL AHMAD  | 1800 | 964  | 53.6  |  |  |  |
|       | EWS      |                     |      |      |       |  |  |  |
| 1     | 25651503 | ZAHID NAZIR MIR     | 10   | 6.71 | 67.1  |  |  |  |
|       | MA Urdu  |                     |      |      |       |  |  |  |
| OM    |          |                     |      |      |       |  |  |  |
| 1     | 25651501 | AASIMAH JAAN        | 10   | 8.78 | 87.80 |  |  |  |
| 2     | 25651465 | TOIBA TARIQ         | 10   | 6.74 | 67.40 |  |  |  |
| 3     | 25651453 | NEELOFAR            | 10   | 6.5  | 65.00 |  |  |  |
| 4     | 25651437 | MUSARIT AFSANA      | 10   | 6.38 | 63.80 |  |  |  |
| M Com |          |                     |      |      |       |  |  |  |
| ОМ    |          |                     |      |      |       |  |  |  |
| 1     | 25651464 | MOHD ADIL BHAT      | 10   | 8.6  | 86.0  |  |  |  |
| 2     | 25651463 | MEHRAN ASHIQ        | 10   | 8    | 80.0  |  |  |  |
| 3     | 25651442 | MASRAT BANO         | 1480 | 1178 | 79.6  |  |  |  |
| 4     | 25651510 | RUBIA JAN           | 2100 | 1442 | 68.7  |  |  |  |
| -     |          |                     |      |      |       |  |  |  |

Director, DACE

No.: F4(Selection List-4/PG/CDOE-2025) DACE/KU/25 Dated: 15-09-2025